4.3 Finding the Equattion of a Circle November 10, 2014

Coordinate Geometry:

The Circle

Section 4.3 Finding the equation of a circle
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2. The perpendicular bisector of a chord contains the centre
In the given diagram, ! is the perpendicular bisector of the
chord [AB] and m is the perpendicular bisector of the
chord [BC].

Each of these bisectors contains the centre, O.

The point of intersection of these two perpendicular
bisectors is the centre of the circle.

Note: This property is very useful when we require the
equation of a circle containing three given points.
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4.3 Finding the Equattion of a Circle

November 10, 2014

1. Equation of circle containing three given points

« Example 1 )

Find the equation of the circle which contains the points A(2, 1), B(0,5) and C(—1,2).
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